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Advanced Statistics -VI :Paper — 304
Statistical Quality Control & Decision Theory
Time :- Z%Hours Marks: 70
Instructions:- 1) There are four compulsory questions in this Q. Paper.
2) Scientific Calculator is allowed.
Q1 A What is statistical quality control? Interoperate statistical quality control. 14

State its area of application. Write a note on “ Theory of runs
OR

Q1 A a)What is variation in the process? State causes of variation. 7
b)Explain assignable causes and Chance causes. 7
Q1 B Select the correct answer L

a) Founder of statistical quality control was
A. Dr..Walter Shewhart B. Prof. P.C. Mahalnobis
C.R.A Fisher D. None

b) In India criteria for SQC is given by
A. Dr. Walter Shewhart B. Prof. P.C. Mahalnobis

C. R.A Fisher D. None
¢) Control chart for variable is.......

A. X and R chart B. np-chart

C. C-chart D. p-chart
d) Control chart for attribute are......

A. C-chart B. p-chart

C. np-chart D. All of these

Q2 A Explain the purpose of variable control chart. What is X and R chart? How 14
to derive the control limits for X.

OR
Q2 A a)Explain importance of X and o chart.construct control limits for o chart. 7
b) From the following information find control limits for C-Chart. 7

No. of units 1 12(3(4(5]617(819]10
No. of defects | 156 413 12|1|1[2]1|10

Q2 B Select the correct answer Ly
a)For R-chart R=12,D3=0,D,=2.11 ., LCL = ........
A. 0 C.25.32
B. 14.11 D. None
b) No. of defectsina T.V. Set.......... Chart used
A.X - chart B. R-chart
C. C.-chart D. p-chart
¢) Upper control limit for X — chart estimator of pis......... used.
A X C X
B R D R
d) C-chartbasedon ......
A. Binomial C. Poisson
B. Normal D. None
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Explain single sampling plan. Explain OC curve of single sampling plan 14
OR
a) Explain Producer’s Risk and Consumer’s Risk. 7

b)For a SSP  (N=2000,n=200,c=2), if AQL=0.0land LTPD=0.03 7
respectively. Find Producer’s Risk and Consumer’s Risk
Short Answer any three 3
a) What is acceptance sampling?
b) What is (Pop. Inspection)100% inspection?
¢) What is sampling inspection?
d) What is producer’s risk?
e) What is consumer’s risk?
Write a note on Decision theory. Distinguish between decision under 14
Certainty and Uncertainty.
OR
a) Decide the best act for following Pay-off matrix by applying : 7

i) Max-Min ii) Max-Max iii) Laplace Criterion.

State of’ ACTS

Nature | A; | A | Az | Aq | As
S 1012511015120
S, S5 110(-5]10(-5
Ss 1515 (10]10]10

b) Explain Expected Monetary Value (EMV) Criterion in decision theory.
Short answer in reference to decision theory.(any three )

a) Event

b) Pay-Off Matrix

¢) Opportunity Loss Criterion

d) EMV (expected monetary value)

¢) Expected Opportunity Loss Criterion
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